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QUESTION 1

When utilizing MAPI prepopulation, the default timer is set to: A. 96 hours 

B. 1 hour 

C. 30 minutes 

D. There is no default timer 

Correct Answer: A 

 

QUESTION 2

You plan to downgrade a SteelHead from RiOS v9.0.1 (Apr 17 2015) to 8.6.3 (Aug 7 2015). The appliance has not run
v8.6.3 previously. Will this be successful? 

A. No, downgrades are only permitted if the target version was previously installed. 

B. No, it is not possible to downgrade RiOS. 

C. Yes, the configuration will be migrated successfully during any downgrade. 

D. Yes, v8.6.3 is a chronologically newer version. 

Correct Answer: A 

 

QUESTION 3

The exhibit shows a data center side serial clustering deployment. In this organization, not every remote site has a
Steelhead appliance deployed, and all remote locations will be connecting to the data center. 
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For connections initiated from the data center, there is a possibility that the Steelhead appliances shown in the exhibit
will end up peering with each other, rather than the intended remote Steelhead appliances. Where are peering rules
needed to prevent this problem? 

A. A only 

B. B only 

C. B and C 

D. A and B 

Correct Answer: D 

 

QUESTION 4

A SteelHead in an Interceptor cluster notifies the Interceptor that it is under high pressure. How many credits are
reduced for that SteelHead? 

A. 0% 

B. 10% 

C. 20% 

D. 30% 

E. 50% 

Correct Answer: B 

 

QUESTION 5
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-- Exhibit 

-- Exhibit -Refer to the exhibit. When USER1 tried to map shares to Server 1 and Server 2, he got the results shown. 

What does the report represent? (Select 2) 

A. The connection to Server 2 is optimized. The performance should be good. 

B. The connection to Server 2 is optimized, with errors, the performance should be poor. 

C. The connection to Server 1 is optimized. The performance should be good. 

D. The connection to Server 1 is optimized, with errors, the performance should be poor. 

E. The connection to Server 1 is not being optimized. 

Correct Answer: AD 
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